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8 (ii)  P(X ≤ 13) found soi 

 

0.608009811813…rounded to 2 or more dp isw  

BC 

 

 

M1 

 

A1 

 

[2] 

3.1b 

 

1.1 

 

 

NB 0.391990188187 

 

NB 0.6080 or 0.608 or 0.61 

 
 

M0 if P(X = 13) used 

NB 0.1643… 

if M0 allow SC1 for  

1 ‒ P(X ≤ 14) = 1 ‒ 0.58362.. 

=0.41637083 rounded to 2 or 

more dp 

9 (i)  negative skew B1 

 [1] 

1.2 
 

 

  

9 (ii)  (used) the mode B1 

 [1] 

 

1.1 
 

 

  

9 (iii)  (used) the median B1 

[1] 

 

1.1   

9 (iv)  61‒ 1.5 × ( 88 ‒ 61) 

 

20.5 < 35 [so 35 is not an outlier] so he does not 

move to set 2 

 

M1 

 

 

A1 

 [2] 

 

 

2.1 

 

 
 

2.2b 

Alternatively, 

73.61 ‒ 2 × 17.03 

 

39.6  > 35 [so 35 is an outlier] so he 

moves to set 2 

 

 

 

allow eg only marks below 

20.5 (or 39.6) would lead to a 

move down plus correct 

conclusion 

 

10 (i)  [μ = ]19 B1 

 [1] 

 

1.1 
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10 (ii)  21.548 19
1.96




   

[σ =] awrt 1.3 

[σ
2
 =]  awrt 1.69  

 

M1 

 

A1 

 

A1 

[3] 

 

3.1a 
 
 

1.1 

 
1.1 

or 
16.452 19

1.96



    

may be implied by final answer 

allow B3 for awrt 1.69 unsupported 

 

 

NB 1.959963985…rounded 

to 3 or more sf 

 

M0 if z = 2 

10 (iii) A [μ = ] 4 × their 19 + 5 

[σ
2
 =] 4

2
 × their 1.69  or σ = 4× their 1.3 

  2~ N(81,5.2 )Y  oe 

M1 

 

M1 
 

A1 

[3] 

2.1 

 

1.1 

 

1.1 

 

 

NB 27.04 

 

10 (iii) B 0.04175 or 0.0417 or 0.042 

BC 
B1 

[1] 

1.1 

 

 NB 0.0417462427103 

11 (i)  (1 6 2 5 3 4 4 3 5 2 6 1) 1k               oe 

1
[ ]

56
k   isw 

M1 

 

A1 

[2] 

3.1a 

 

1.1 

 

allow one slip in arithmetic 

 

B2  if unsupported 

 

 

11 (ii)  
   

3 2
6 12k k    oe seen 

243
 or 0.000056477584

4302592
 rounded to 2 or more 

sf 

M1 

 

A1 

[2] 

2.1 

 

1.1 

FT their k 

 

 

 

 

 

11 (iii)  
40 × 6k 

4.286 or 4.29 or 4.3 

M1 
 

A1 

[2] 

 

3.1b 

 
3.2b 

FT their k 

mark the final answer 

 

 

 


